Lab 11 Questions
B. Answer the following questions and hand them in to your instructor at the beginning of Lab 12.[5 points]

1. Why is it advantageous for an organism to be able to turn particular genes on or off in response to various environmental conditions?  

2.  Name a genetic control mechanism that yeast use to regulate the production of invertase.  Explain how your results for the invertase assay of the wild type yeast demonstrate this mechanism. You did the same invertase assay on yeast with a defective invertase gene (a mutant that could not make functional enzyme). What does this control assay on the mutant tell you?
3. The person at the bench across from you performed the invertase assays just as you did, but she forgot the second water wash of her yeast cells. The following table compares her results to yours. How might her mistake in performing the experiment lead to these results?

HER RESULTS
YOUR RESULTS


Sample



____  A @ 540nm    A @ 540nm


water





0


0


glucose





0.84


0.82


sucrose





0


0


sucrose + invertase



0.57


0.6


wild type yeast/normal glucose
0.51


0.09


wild type yeast/ minimal glucose
0.61


0.60


mutant yeast/ normal glucose

0.50


0.05


mutant yeast/ minimal glucose

0.05 

0

